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1. Answer the following as directed (any ten) :
1x10=10
TS PRI Mo SpiR Sea mat (R @ web)
(a) The property of a proposition is truth/
validity.
( Choose the correct answer )
/AR B (ZR ATl / QY |
(®= TEw! 3k Sfersar )
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(h)

(b) “‘Logic is concerned primarily with
argument forms and secondarily with
argument.’”’ Is this statement true?
RN Ay EI TR G IF
CMereid e Ties wfos |7 @3 SRGTh! A5 ?

(c) Which term is distributed in an ‘O’
proposition?

‘O’ THTS (FID! AW [N 2?2

(d) What is the symbolic form of universal
affirmative proposition?

AN ATLT 69 ACI[SF ST 62

(¢) Can an ‘A’ proposition be converted
simply?

‘A’ o e IS PRI AR 2

(f) Which two terms are present in the minor
premise of a syllogism?

OBl PRI TF A TS SAES 3 O WS
9 T 4 |

(g) Which type of opposition is there between
‘E’ and ‘I’ propositions according to
Aristotelian logic?

BT FR@E PR E’ WF T I5e
Tere & @ Raafre smg?
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(h) An immediate inference has onc/two/
three premises.

( Choose the correct answer )

i SeEiee @bt / 901 / fOfAht S b
I |
(wm TG0t alfz Sfersar )

(i) Syllogism is an immediate inference/
mediate inference.

( Choose the correct answer )

IF 9Bl SARGY / TG S |
(@ Sed! IR Sfered )

(i) The predicate of the conclusion of a
syllogism 1is called .

( Fill in the blank )

a5l EFR P Re@ v = @t
=
( A 1R = 9 )

(k) ‘‘In an inductive inference, the conclusion
cannot be more general than the
premises.”” Is the statement true?

“GB NG SN RIS SR ols
QAR T I @RIE 1 @2 SFFH TS ?
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(o)

(p)
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Is the syllogism  valid, when both the
premiscs are negative?
afen @bt anua qoulbt =it=y e qmde 2y,
cofent Rt Ay Zue ?

Name the figure in which DARII is a valid
mood.

DARII @ <21 @4 IS, G132 AZDE 4
forat |

State the position of the middle term in
the Fourth figure of a syllogism.

A 5od A (TP “WE ZF0! SEE 4|

The First figure of syllogism is also called

as ____ figure.
( Fill in the blank )

TER AAT A A=A e @El

27 | _
( Q& B2 7@ 341 )

How many circles are to be drawn to test
the validity of a syllogism through Venn
diagram?

s foqa Azwe bt e @Ave fqdy sfERata
@E5 7€ G DA AN ?
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(q) What is the symbol used for ‘belongs to’
in set theory?

e oee ‘TwEE w4t 652

(r) Symbolize the given proposition by means
of set notation :

No Americans are philosophers.

frafeie Ioam T3S TEr TS AP
94

@A IEEAPE T2 weEs |

2. Answer the following questions (any five) :
2x5=10
woTs ol erepTze Bed ot (R it #fiobt) -
(a) What is formal truth?
RS el Jferea & w2

(b) State two differences between deduction
and induction.

e SF eI qrerS 2=t Jot i fordt |

(c) What are the two important conditions of
a valid argument?

3 s 4ot @Fged 58 5 69

A23/454 ( Turn Over )




(d)

(e)

(1)

(g)

(h)

(i)

0)

A23/454

Give an example of a valid argument
having true premises and a false conclu-
sion.

S MY IoA HF SPTS) PraE AP @6l (dy
e Trizad ol |

Define particular affirmative proposition
with the help of an example.

G5! SHIZIIT TS [ L Io79 HAeq! oy |

What is meant by ‘mood’ of a syllogism?
TR IS e & w2

Write the names of four valid moods of
First figure of syllogism.

IR ALY ALY SIRG @Y RS w1 oy |

Give example : Fallacy of undistributed
middle.

Triegd vl - S @9 M A |

State any two rules of syllogism.

g 7 @it 9o s SE 90

State two methods of representation of
sets.

2fS o A1 2P FIRF GBI Amhe St A |
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3. Answer the following questions (any four) :

5x4=20
wete ol epspTza Tad foral (R cieal o1 o) -

(a) Distinguish between deductive and induc-
tive arguments.

e 3fe i SeEEee Iied e 4
Ay fefn <t

(b) How many figures are there in a syllogism?
Tlustrate the figures of a syllogism in linear

form. | 1+4=5
[T AEE @2W1? @AM AREFER ORI
ARG A =4 |

(c) What is simplification of propositions?
Simplify the following sentences into
logical form (any three) 2+43=5

TR A I 5 gt s k-
@3B! ST IR AR 9 (R @ie

ISCINE
(i) All good authors are not good
speakers.

AP OfF @GRF ©lF IS =7 |

(ii) Only the intelligent persons can pass
the examination.

@@ e Jfewe @R we S8
2’7 A |
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(iii) Most of the students are honest.

Qe gaR e |

(iv) Wise persons are always revered.

R I e s |

(d) What is the middle term? What is the role
of the middle term in a syllogism? 2+3=5

(P *M M F? GO RS &P M7 sl B2

() What do you mean by opposition of
proposition?

N Rifrer feret & ger?

(f) State the special rules of the Third figure
of a syllogism.

TS PO AT Rew Fawemz Swe 4 |

(g) Distinguish between immediate and
mediate inference.

SAIGY HF VYT SqNHT oo oLy efy
97 |

(h) State the special rules of the Fourth figure.
oed e Rew fFawEe Smy w4 |
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4. Answer the following questions (any four) :

weTe il eiepTyed ad fordt (R Geict wifant) -

(a)

(b)

(c)

(d)

(e)

(f)

A23/454

10x4=40

What i1s an argument? Explain the relation
between argument and argument form.

e wEw /B e @i gfea wwEa st
LS GG 4

Write an essay on the relation between
truth and validity.

Aoro! T (AYelT 36 Raw qafy qoa1 fordt |

What is a syllogism? Briefly explain the
fallacies of syllogism.

T A 57 TII GIPTE G ATt w4 |

What is conversion? Define conversion by
negation. State the rules of conversion.

2+2+46=10
SIS WA 62 s wadae siew o |
TRET iz S 49 |

Explain the square of opposition with the
help of diagram.

B >2ws o+ [Riftrer Istesas A 341 |

Illustrate AEIO propositions with the help
of Venn diagram.

coq 5T TS AEIO I5PTy2 dwfe 4T |
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(g)

(h)
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What is venn diagram? Explain the
method of testing the validity of an
argument by using the Venn diagrammatic

technique.

o 5 T QIE? cod B afs e IR
Ifeq et ey a1 afGHio [y 90

Prove the wvalidity of the following
arguments using the Venn diagrammatic
technique : 5+5=10

s foq ~mmfs gmie R fsfkRe e @
fefg =t -

(i) All mathematicians are wise.
All philosophers are mathematicians.
. All philosophers are wise.

Ao aifre®w W wA |
AP w2 sifrewm |
- e wfe 2W ®IN

(ii) All Indians are patriots.
Some patriots are not social reformers.

. Some social reformers are not Indians.

FFE OO =W It |
g iR S=w ANIE-meS |
. RN IE-REE 929 SI9en |
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(i) What is set? Explain with examples how
the traditional AEIO propositions are
symbolized with the help of set notations.

SR G o[l AEIO 6% TS
g TEES @EE AR T,
TAPR. JRY 90

() What is operation of sets in set theory?
Explain various operations of sets.

seafoege FEfey afF T 2 RO
Ffen afes g FAI

* & K
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